Installation Instructions
EF-Series EuroFrame™ Gen 2 800W Air Dam
Included Hardware:

M6 x10mm Phillips Screw, 4 ea.

M6 Nut, 4 ea. -
-
Tools Required: . ,= o
Phillips screwdriver A
/ h '
Installation Instructions - %:E,' M6 nut
1. Using 2 sets M6 x 10mm screw and M6 nut to fix the air dam panel on M6 Screw = I
the left equipment rail, shown as Fig. 1 L |
2. The same way to install another panel on the right equipment rail. - {J,%
. L 1
LR
St
Ly
vl
i

Fig. 1

I

i

[1S-768250 , 10/2017, Rev. 1, CPI/MZ/JL
800-834-4969 (USA & Canada) » www.chatsworth.com ¢ techsupport@chatsworth.com
GI [:H AT S w U HT H P H I] I] UETS For international ph(one numbers, see our)website or contact CPI Tech Support. PP @

This drawing contains proprietary and confidential information and is protected by U.S. and international law. Unauthorized reproduction, disclosure or use of the drawing
or the information therein is expressly forbidden except as agreed to in writing by Chatsworth Products, Inc.

Page 1 of 1



